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3 FEk Snin sk kk kk kk kk 10 1 P
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NO. E F 4 1 5 8 10 12 JBfz
7 B Waltz
1 ﬁt* ETY 6 6 6 6 6 6.0
4 i 5 4 5 4 2 40
5 FEHE = 4 5 4 5 5 50
7 FAF 2 3 1 2 3 25
8 7=/$ E2eE2D 3 2 2 3 1 25
10 R mE#2 11 3 1 4 1.0
& H Quick step
1 ﬁtﬁ% ETY 6 6 6 6 6 6.0
4 K& il 5 4 5 4 2 4.0
5 Eﬁﬁ = 4 5 4 5 5 50
1T B# Hia¥F 1 3 1 3 4 3.0
8 5‘1/ E2eED 3 2 2 2 1 1.0
10 R mE#2 2 1 3 1 3 20
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No. & F % W Q &F JEf
1 HiEE 2 6.0 6.0 12.0 6.0
4 K& #Hhil 40 40 80 4.0
5 E’fﬁ = 5.0 5.0 10.0 5.0
1T B HBHAF 2.5 3.0 55 3.0
8 EFE i 25 1.0 3.5 20
10 7RRE BEfE 1.0 20 3.0 1.0
1 mH OFE
5 sl EF
8 NI BEF
10 kg HF
12 =H Rl
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